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A so-far unremarked problem with The Lord of the Rings is the question of the hobbits' size in relation to that of men. We are told that hobbits are about three feet tall.  The notion of hobbits fighting and defeating man-sized creatures in battle, or of hobbits even getting along with men on a basis of mutuality, e.g., sharing the same inns, rooms, tables, etc., seems unlikely. Hobbits are half the height of men, which would already produce a tremendous incompatibility. But the difference between men and hobbits is much greater than the difference of height alone:  more significantly, the hobbits have only one-eighth the mass and weight of men. 

To explain this, let's say the first cube above, representating a man, is six feet by 2 feet by 2 feet. The second cube, representing a hobbit, has dimensions that are exactly half those of the man, one-half the length, one-half the width, and one-half the thickness, so that the smaller cube is 3 feet by 1 foot by 1 foot. 

The volume of the man would be 6 x 2 x 2 = 24 cubic feet. The volume of the hobbit would be 3 x 1 x 1 = 3 cubic feet. Though the hobbit is one-half the height of the man, his volume, hence his mass and weight, would be one-eighth that of the man. Thus, if a six-foot tall man weighed 180 pounds, a hobbit half his height would not weigh 90 pounds, but 22 1/2 pounds.  

To gain further perspective on this, while a hobbit has the same proportions as an adult man, a human child does not have the same proportions as an adult man. The child is considerately thicker in relation to its height than an adult is. From birth to maturity the human body becomes increasingly elongated, meaning that its height becomes greater in relation to his thickness. Babies are not called round for nothing; and children are still thicker in relation to their length than adults are. Also, the proportion of head size to body size keeps decreasing until maturity; a baby's head is vastly larger in relation to its body than an adult's head; and the head of a three-foot tall child is also proportionally much larger than an adult's head.  But hobbit adults are not proportioned like human children, they are adults. Since the three-foot-tall hobbit presumably has the same proportions of thickness to height and the same proportion of head size to body size that a man has, the hobbit's volume—hence his weight—would be considerably less than that of a three-foot-tall human child. He would be much thinner than a human child of the same height and would have a much smaller head. The notion of such a tiny, light creature—much lighter and thinner and smaller-headed than a small child—engaging in physical combat with men, or even of conducting social relations on any basis of equality and mutuality with men, as occurs in the Inn at Breeland and elsewhere in the Lord of the Rings, runs into a "suspension of disbelief" problem, at least with this reader. 

In addition to the different sizes of their furniture, utensils, and so on, the voices of hobbits would be tiny and high-pitched compared to the men's. Men and hobbits would be so different from each other that they would not be able to relate as equals. 
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